BIOLOGY I - Genetics Quiz

Name: __________________
Incomplete dominance is seen in snapdragons a type of flower.  The allele that causes red flowers (R) is not completely dominant over white (r). The hybrid produces pink.

In cattle coloration the genes are codominant.  The symbol for red is (R), the symbol for white is (W), and the heterozygous form is called roan and it is (RW).




Cross a red male with a roan female. 


1. Set up a key (1point)


2. Show the cross (1point)


3. Show the punnet square (1point)


4. List genotypes (1point)


5 List phenotypes (1point)








Cross a red flower with a pink.


1. Set up a key (1point)


2.  Show the cross (1point)


3. Show the punnet square (1point)


4. List the genotypes (1point)


5. List the phenotypes (1point)








 








